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Kafrelsheikh University Mathematics 1
Faculty of Computers& Information
The first semester exam (2018-2019)

Time: 3 Hours
First year
Date : 2-1-2019

Answer the following questions

1- (a) Find the solution set to the inequality 2" +2x-15>0,

(b) Let f(x) = x” —5 . Find the range.,

2-(@If f(x)= J\H| . Find the domain of /.
x° =2x—3

2
(b) Find lim—"—""!

3 -, if it exists.
0 3x® —4x+5

3- Choose the correct answer:

(D Let /(x)="2% Then lim E =
b

—-x x0°

(a)2 ()1 (e)-1

(I Let f(x)=+x Then EEEH

h—o

\Hbl mﬁv 1
Jx Bolx

4-(a) let f(x)=x>. Find the derivative of 1 (x).

(a) x (b)

R 2
(b Find the integral [ (x* -3x” +5) d.
[

5- (a) Let wu% . Find W.
e -3

(b) Find the area of the region bounded by the parabola y = x* and

the line y =x+2.

With my best wishes

Prof. Dr. Osama Abo-Seida
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Choose the correct answer with an explanation if found:

gl A : A8 gy
L olu 31 gl
4 gl i 8 £ 320l ik o8 Y] T

) two depletion region
@) none of the above

- A le has 2= The most widely used rectifier is
a) four terminals ) bridge full-wave rectifier

b) three terminals b) centre-tap full-wave rectifier

) two terminals ) half-wave rectifier

d) onetermin: d) none of the above

3. Diode characteristic curve is a plot between 4~ Smoothing circuit used in Rectifiers
o) voltage and current

B current and time o e

&) voltage and time o

d) bothaandb

5 A transistor has G The Emitter of a transistor doped
1) one depletion region T —

b)  three depletion r B heavity

lightly
none of the above

7= Which logic gate has the following truth table

Togic gate has the following trufh table

4B __Ou

@) A twoinput AND gate. o Anexclusive NOR gate. ——
O Mot OR gt b) Anexclusive OR gate. T o o
& An exclusive OR gate. ©) A two-input NOR gate. 0 0

d) A two-input NAND gate. L1 0
9. Majority carriers in n-semiconductor are: 10. In NPN transistor, the base is :
a) electrons %) n-semiconductor
b) holes b) p-semiconductor
©)_ electrons and holes ____ R © _p-semiconductor and n-semiconductor
d) none of the above d) none of the above
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Second Part
Answer the followin:

2018/2019 el pell
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Choose the correct answer with an explanation if found:

1- A diode has z

a) four term )

The most widely used rectifier is

bridge full-wave rectifier
centre-tap full-wave rectifier
hatf-wave rectifier
none of the above

b) three terminals b)
B} 9
) one terminal @)
3 Diode characteristic curve 1s a plot between 3

) voltage and current
b) currentand time 2
o) voltage and time 0
) bothaandb

ised in Rectifiers

Smoothing circui

True
False

S- A transistor has 6 The Emitter of a transistor is .. doped
a) one anv_uze.: region W moderately
b) three d tion region b) heav
) two depletion region ) lightly
d)  none of the above d) none of the above
7= Which logic gate has the following truth table 3 Which logic gate has the following truth table
A B Ou
o AtwoinputaND g, [L—Z O] | o) aq exclusive NOR gate o1
K 28 S| |5 Ansscusveorgae I
d) An exclusive OR gate. g L 0 €) A two-inpit NOR gate. ¢ F.0
13 9 d) A two-input NAND gate. 1 1o
9. Majority carriers in n-semiconductor are: 10, In NPN transistor, the base is :
W clectrons :
b) holes b) p-semiconductor
<) _electrons and holes ) _p-semiconductor and n-semiconductor
d) none of the above d) none of the above
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In p-type extrinsic semiconductors, defects are 12. The important mode of transistor4s
located
a) cut-off mode
lower valance band b) saturation mode
above ne=._=n»..a= band ¢ active mode
lower conduction band
above valance band 9 wiiprisabove
13. Transistor as amplifier can be 14- Gate that is also known as inverter is called
a) common emitter
b) common collector a) NOT
¢) common base b) XOR
d) all of the above ¢ OR
d) NAND
15. The fac of the transistor is the ratio of Ic and Is
a) True
b) False

End of the test
‘With my best wishes

Dr. Mahmoud Saad
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Computer Law (HUM141) First - term Exam

F sy,

Date: 9/1/2018 Time: Two Hours

QL Select the correct answer (please include the number and the word of your choice)
(15 points)

1. An unlawful act done with the intention of causing harm to the cyberspace will affect large
number of persons.

a. Cybercrimes b. Cybercrimes c. Online Fraud d. Hacking

Against Property Against Society
2. Monitors all data flowing in and out of the computer to the Internet, often blocking attacks from
reaching the system.

a. Software b. firewall c. Spyware d. Antiviru:
3. A self-replicating program. It propagates through computer networks without user intervention.
It does not need to attach itself to an existing program.
a. Trojan b. Worm <. Virus d. Bonus

4. Any unlawful act by which the owner is deprived completely or partially of his thoughts rights
is a crime

a. Cracking b. Online Fraud . Intellectual property d. Stalking
“rime
5. A branch of mathematics based on the transformation of data.
a. Encoding b. Programming c. Cryptography d. Transmission

6. Online fraud and cheating using betting and is done on the name of cricket through computer
and internet.

a. Online Crime b. Online Fraud c. Online Gambling d. online Detection
1. The combinatjon of sound, text and images in a digital format, which is made accessible by a
computer program.

a. Multimedia b. Program c. Virus d. Squat

8. Access someone’s computer or network without the right authorization of the owner and disturb,
alter, misuse, or damage data.

a Cyber Trespass  b. Cyber Stalking c. Cyber Squatting d. Cyber Terrorism
9. The means by which a user provides a claimed identity to the system.
a. Identification b. Policy c. Personality d. password
10. Itis the use by an unauthorized person, of the Internet hours paid for by another person
a. Fraud b. Cyber Vandalism ¢. Hacking d. Internet Time
Thefts

Q2. Mark the following sentences with True (T) or False (F) and correct the False
ones: ( 6 points) (15 points)

1. Software Piracy is considered a crime against property. )




image11.jpeg
Faculty of Computers & Information Year 20182019
Computer Law (HUM141) First - term Exam

Date: 9/1/2019 Time: Two Hours

2. Cyber-squatting involves two persons claiming for the same Domain Name
)

3. The duration of copyright begins from the moment when the work has been
created and continues until sometime after the death of the author . ()

4. Intrusion Detection System monitors network traffic for suspicious activities.
)
5. Web tracking software watches what sites you visit and can display pop-up.
)
6. Bonus software is a tool designed to record keystroke on an affected machine
for later retrieval. « )
7. Antivirus monitors all data flowing in and out of the computer to the
Internet. )
8. Berne Convention for the Protection of Industrial Property in 1883.( )
9. Java and ActiveX are potentially quite dangerous. )
10.Websites contain dynamic programs that may downloaded onto your
‘machine and executed. ()

Q3. (30 Points)

1- List works Protected by Copyright in Berne Convention? (5 points)

2- Define authentication and list three methods of user authentication? (5
points)

3- Define Malicious Software and give five Malware access points with

brief explanation? (5 points)

4- discuss Life Cycle Planning in system security? ( 5 points)

5- What is the difference between Copyright and Industrial Property, give
five examples protected by each term? (5 points)

6- Define Policy and compare between Program sIssue and System Specific
policies? (5 points)

S ek St
s dlr o 3
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Subject: History of Computers Pages 2)  °
Time Allowed: 2 Hours
Code: HUM152

(10points)

1. Analog communication works like a simple light switch that has only on or off.

. Packet switching groups all transmitted data into switching sized blocks.

A
A
4Om_nc_ma:wo_on_nno:EﬁQmogmn&:o::v.bm&mww. A
. E-business is limited to using internet technology in the selling process only. (

(

NN

. Hollerith Machine helped in tabulating Census data.

(10 points)

Jitestion2:
Write the difference between:
1. LSIand VLSIL

2. Telephony and data communications evolution.

Juestion3: (10 points)

Explain:
1. IT skills pyramid.

2. Charels Babbage and his innovation in computer history.

(10points)

er optic Link Around the Globe (FLAG).
. Vacuum tubes.

. IT skill standards.

. TCP/IP

ARPANET

voR W

(A AL i)
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(20 points)

Choose the correct answer:

1. Integrated circuits appeared in the ... ... generation of computer.
a. first b. second c. third d. fourth

2 o ... invented binary code.
a. Konrad b. Pascal . George Boole d. Charles Babbage

3. The computers are closed together in the same building is "
a. LAN b. WAN c. CAN d. MAN

4. 1 TB equals to ..

a. 1024 GB b. 1024 KB c. 1024 MB d. 1024 Byte
5. . . is an operating system developed for Apple II personal computer.

a. Windows 95 b. MS-DOS c. Windows xp d. GS/OS
6. One of the primary memory is

a. flash memory b. ROM c. hard disk d. DVD
7. is one of the system software.

a. Windows 7 b. Microsoft office c. Notepad d. Firefox
8. Pascaline could solve . . operations.

a. multiplication b. linear equations c. division d. addition
9.5 is one of internal components.

a. Printer b. RAM c. Image scanner d. Joy stick

. appeared in the fourth generation of computer.
a. Apple b. Vacuum tubes c. ENIAC d. Transistors
A gl
sl i ga

Du. Diana ThanwatMasa




image1.jpeg
Kafreshikh University Date: 20/01/2018
Faculty of Computer Sciences Time: 2 hrs
First-Year Students Mark: 60

Sub.: English Final Exam: 2 pgs

Attempt all the follawing questians:

|- Read the fallowing passage and answer the questions below: 20 Marks)
Written forms of British and American English as found in newspapers and fextbooks vary
little in their essential features, with only occasional noticeable differences in comparable
media (comparing American newspapers with British newspapers, for example). This kind
of formal English, particularly written English, is often called "standard English."

The spoken forms of British English vary considerably, reflecting a long history of
dialect development amid isolated populations. In the United Kingdom, dialects, word use
and accents vary not only between England, Norther Ireland, Scotland and Wales, but
also within them. Received Pronunciation (RP) refers to a way of pronouncing standard
English that is actually used by about two percent of the UK population. It remains the
accent upon which dictionary pronunciation guides are based, and for teaching English as a
forcign language. It is referred to colloguially as "the Queen's English," "Oxford English"
and "BBC English," although by no means do all graduates of the university speak with
such an accent and the BBC no longer requires it or uses it exclusively.

English has 44 sounds: 24 consonants and 20 vowels. The 20 vowels are classified as
5 long vowels, 7 short vowels, and 8 diphthongs. Such sounds are used in phonetic
franscriptions in modem dictionaries for English leamers. You may see this by going
through any English dictionary.

Duestions

1- How many sentences in the 1* paragraph?

2-In which aspects is British English different from American English?

3- Give another meaning for "standard English."

4- Translate the 3" paragraph into Arabic.

5- Mention 5 words from British English with their American counterparts.

Translate 4 abéraviations onlyinta English & Arabic:
1- ATM 3-CNN 5- MENA 7- TOEFL
2- AIDS 4-DNA 6- TOEFL 8- WHO

N8, Never answer more questions than required

lil- Chaose the correct answer: (30 Marks)

1- We have (a little-little-few) milk I the fridge; we need to buy some more.

2- I'bought a beautiful camera. (A-An-The) camera is very expensive.

3- "UNESCO" is an abbreviation known as (initialism-acronym-contraction).

4- The affix in "mice" is known as (prefix-infix-suffix).

5-Isearched for my pen (between-amid-among) my books,

6- The good student (answers-replies to-responds to) the questions required only.

7- My computer needs an (antivirus-antiviral-antibiotic) programme.

8- He could not (comprehend-apprehend-understand) the course because of his
absence.

9- The criminal killed his enemy and left his (body-corpse-carcass) in the street.

10- I'm ill; I (can't-cannot-can not) study well. AIO
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11- Please, (chic-check-cheque) your answers before leaving.

12- We will help him (always-all ways- allways) possible.

13- She always behaves in a (childish-childlike-childy) shy way.

14~ It is my bad (habit-custom-tradition) to raise my voice when angry.

15- The mobile (drowned-sank-swam) in the water.

16- It is our national (duty-homework-housework) to defend our country.

17- The teacher and his students must respect (each other-one another-
themselves).

18- Few students got the full mark in the mid-term (test-quiz-exam).

19- The British people prefer the word (program-programme-programm).

20- Dear students, is my (voice-sound-noise) clear and understood?

21- The noun "courage" is (countable-uncountable-count).

22- Many (wifes-wives-weaves) are divorced because of their work.

23- The plural of the word "goose" is (gooses-geese-goses).

24- Mathematics (am-is-are) my favourite branch.

25- The train is my favourite (mean-means-meanses) of transport.

26- There are many (dear-deer-deers) in the zoo.

27- The film has many famous heroes and (heroin-heroines-heros).

28- We visit the book fair (in-on-at) Cairo every year.

29- He was born (in-on-at) April 30.

30- We have a meeting (in-on-at) 4 o'clock.

NE. Write the correct answer only beside the mumber of the question.

==========fpod Luck==========

Dr Khaled Sirwah
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Question number one: (30 Marks)
. Choose the Most Correct Answer: (20 Marks)

1) In which evolution of operating systems, error indicated by lights, programmers
examine the registers and main memory to determine error:
["a. Serial b. Simple Batch . Multiprogrammed Batch | d. Time-Sharing
Processing, | Systems, | Systems Systems
2) Which part of an operating system allowing communication with the operating
system via a control language, letting the user control the peripherals without
Kknowing the characteristics of the hardware used:
[ & Kermel, | b. Device Drivers, | ¢, User Interface, | d. System Utilities | e. Shell ]

3) Which evolution of operating systems, its objective is maximize processor use:

a. Serial b. Simple Baich [<. Multiprogrammed Batch _ d. Time-Sharing
Processing, | Systems, Systems, | Systems.

4) The 2-leftshift operator of the number 00001000 is:
2 [b.4, [e8, [d.32 [e.64 |

) Uses 16 bits to represent each character represent a greater number of languages:
[(a- ASCIL, [ b. Unicode, | c. Coding have first 256 characters = ASCI, [ d.b&e_|

6) Both of memory allocation types are stored in:

[a A, [b.SRAM, _ [c.DRAM, |d.ROM __|e.Cache ]

7)_Used to synchronize the timing of hardware components:
[a-CP.Tb. System Clock, | c. Clock Pulse, [ d. a&c [ealitrue ]

8) In which evolution of operating systems, jobs with similar needs are worked
together and run as a group:
ﬁma:& ['b. Simple Batch | ¢. Multiprogrammed
Processing, | Systems, Baich Systems,

db&e | d.noneis true

9) ‘The process for reserving partial or complete portion of memory for the execution
of programs and processes:
['a- Memory Organization, | b. Machine representation, [ e Memory allocation, |

10) Uses mnemonic sequences instead of numeric operation codes and can use
symbolic labels instead of manually calculating offset:
[ Asscmbly language, | b. NASM, [c. MASM | d. Assembler | e.a&d | f.all true ]

Page 10f2
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11) Which part of an operating system responsible for Loading / Unloading

pplications from memory, Scheduling tasks to run on the C

“a. Kernel, | b. Device Drivers, | c. User Interface,

[ d. System Utilities | . Shell |

12) Which evolution of operating systems, its objective is minimize response time:

b. Simple Balch
| Systems,

a. Serial
Processing,

d. Time Sharing
Systems

<. Multiprogrammed Batch
Systems,

b. Discuss instruction format, then explain the Fetch- Execute life cycle. (10 Marks)

Question number two: (30 Marks)

a. What is meant by: Virtual Machines, Net-centric computing. (10 Marks)
b. (10 Marks)
TFind the storage size in bytes: Find the ASCII code of the _m:mal_
using Systern; | class Program 1
namespace DataTypeAppl {
{ static void Main(string(] args)
class Program {
{ char Capital_E<E'
static void Main(string[] args)
{

Console. WriteLine(sizeof(double));

=Convert.Tolnt32(small_f);
WriteLine(asci
WriteLine(asci_

'

(10 Marks)

1. Indicate what are the arrows between components shows, and their types?
2. Discuss the essential features of the Von Neumann architecturc?
3. State the drawback of Von Neumann and the solutions to this problem?

Best Regards

Dr/Mai Ramadan

Page20f 2
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Answer the following questions:

,

1. Write short notes about:
a. Microscopic Model of Current. b. Crystal Diode Equivalent Circuits.
c. Extrinsic semiconductors. d. Voltage limiter.
2. Explain how the mobile charger works.
3. Compare between the modes and the configurations of the bipolar junction
transistor.
4. What is the Operational Amplifier (OP-Amp), giving at least five

applications of non-inverting one.

Please see the second part
With my best wishes
Dr. Mahmoud Saad




